= AH O
N = 0 &8 AF S & Al A
2010E = 20A LGN StFES ~ SHFES
2M: SHESH
H: IjHEALS
Sl NHMEEN (e
- _ _ bSRE Y=
2MH - 2 . H2(ZH) - MEAY - BES Ol &F2H @;OH Hns
SABS 3,906,044 5,461,326 A 1,555,282
= 48,500
z 566,500
< 415,641
= 2,875,403
NHEAES 1,392,530 354,463 1,038,067
z 426,500
== 400,000
= 566,030
TAMEN 2 S 1,277,300 0 1,277,300
2 426,500
< 400,000
= 450,800
ESN MEISE THAE 424,300 0 424,300
[==4 400,000
= 24,300
201 B3| 24,300 0 24,300
02 222gH4| 24,300 0 24,300
OEMES HIL2 24,300
401 Al&HI L 20 400,000 0 400,000
< 400,000
01 Al&HI 400,000 0 400,000
O=E2M MZ) =4 400,000
< 400,000
SYAZHAS 853,000 0 853,000
2 426,500
iy 426,500
401 Al&HI L 20| 853,000 0 853,000
z 426,500
iy 426,500
01 Al&HI 847,626 0 847,626
OOtA 2T HALS 847,626
= 426,500
= 421,126
03 AEE20HI 5,374 0 5,374
OO0 Z T HAISE Al 2|
853,000, 000& *0.63% 5,374
ST TR 115,230 354,463 N239,233
NL2BE LAY = 115,230 10,000 105,230
201 LBt AH| 83,930 10,000 73,930
01 At 22l 23,850 0 23,850
Oaelal gl 23,850
— =X 50,000 365 *1H 18,250
— X 50,000 112 *1H 5,600
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g oeEdeEs
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- _ _ HEE
SN EHH . H(EH) - NEAY - BES Off & o Ol & o8 HluSZ
02 323l 50,080 0 50,080
OosH 50,080
03 A2 HI 10,000 10,000 0
OF%+ 232 ZLAMY =24 10,000
401 AIEHIZ 208 30,000 0 30,000
01 A&l 30,000 0 30,000
O=3& =&+ AN 30,000
405 Xh&HE SH 1,300 0 1,300
01 MM =SFSHI 1,300 0 1,300
OZeld HFH 1,300, 0002 1CH 1,300
+=2E2d 392,467 816,745 N424,278
= 140,000
= 252,467
ot & Xlotz= el 12,762 12,220 542
ot K XIots =& 12,762 12,220 542
101 el 24| 4,662 4,620 42
04 JIZtHZ2HSE= 4,662 4,620 42
Ootd & gl 2=4+H
33,300 x 10 «14&H 4,662
201 Bt 1,600 1,600 0
01 AtR22iHl 1,600 1,600 0
OosH 1,600
202 O 5,000 5,000 0
01 =LHOYI 5,000 5,000 0
Ootd+=ZIid & Xots HY - 0l8 2cl 5,000
203 AR =& 1,000 1,000 0
03 A=A HS=AH| 1,000 1,000 0
O3d2d gR=A 1,000
206 MH2HI 500 0 500
01 M2l 500 0 500
Octd+=ZAAIE M= P2 2,000& *250H 500
He=s RA2L 379,705 804,525 N424,820
& 140,000
= 239,705
He=Es =22 79,705 130,655 250,950
201 Et=gH| 74,280 101,331 A27,051
01 AtR2teld] 74,280 101,331 A27,051
O 1,000
ontsas s =Z2aM =2 49,430
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O+ZANES W2 2
1,2002 +20074-+900 2! <6007 +7002! *2007H 920
OUISM4E SBLSY 2,838 +1067H A 53] 1,505
ARDETAE HAY 200,000 573,870 ~373,870
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z 140,000
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03 Al = THYl 1,440 4,132 A2,692
OARD +TAIE WAL 2O
200,000,002 +0. 72% 1,440
SHAT A& B2AY 100,000 100,000 0
401 Al Bl L2 Thbl 100,000 100,000 0
01 Al 100,000 100,000 0
OUIEY4E A& 24 100,000
e e 292,029 245,654 46,375
2 48,500
= 15,641
2 227,888
CEETIENT 48,600 35,100 13,500
2 6,500
= 600
2 41,500
BASH AH =T 32,600 35,100 £2,500
201 2ere | 22,600 22,600 0
01 At 22l 1,300 1,300 0
SEL! 1,300
02 32| 21,300 21,300 0
SEL 11,300
OF MBI B8FNLRSS ¥ 10,000
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2 2EES
mu: N MEH
Crol: SRR YUY TR
S A .S (FH) - NBAY - BHAS Al OH &EIE =3}
- o= T ° T EEREES = 04”:"% =<
= 500
[ 500
01 =LA b 1,000 0 1,000
OIS AEE 25 Atdl #IXI0H
20,000& x5H x10 1,000
= 500
= 500
301 LetEAZ 6,000 0 6,000
= 3,000
= 3,000
10 HALAHIEAZ 6,000 0 6,000
O AEE ZiiA 50,000& x60H 23| 6,000
= 3,000
= 3,000
Z HoIEg &2l 243,429 210,554 32,875
= 42,000
& 15,041
= 186,388
BHEAIE 22l 2 HII= Al 68,550 78,284 ANQ,734
201 Let23| 26,110 29,784 A3,674
01 AtR2t2lH| 7,150 10,530 A 3,380
OsH 7,150
02 =323l 18,960 19,254 A294
O 18,960
202 4| 5,000 5,500 A500
01 =LHAbI 5,000 5,500 A500
OFAHERFE L HHEAE NEHH 5,000
206 =Yl 33,200 32,360 840
01 M=Hl 33,200 32,360 840
oMrdII=& ME 100:& 200, 0000H 20,000
OPPOHTH HI & 500:& *24,0000H 12,000
OAFZHAZH P 40,0002 <20 800
ONzFESRYE 2 10,000& =404 400
301 LEtEAZ 4,240 6,640 A2,400
12 JIEt2 42 4,240 6,640 22,400
O1818E U SASHIIE ABBECSAY)
30,0003 7 x43] 840
OMYDIRHED L 13 EEREANEAZ
80,000& 2021 1,600
Ostdg daxEAZ 1,000
OHEYL DIBES Sal)
50,0003 »4H x4 3] 800
SHEA 2e| 56,797 59,770 AN2,973




S3ES 0
A ME
AEE HOlIZS 2cl (el &)
= X H o 3 = 1k In_-ILjL:_ =
Ao BB ERI(BI) - MIRAY - B S Aboy e HIREY
101 el H] 2,997 2,970 27
04 JI2tHIZ2E2ENEE S 2,997 2,970 27
ORELN ot&E4 Fa 2R
33,300 x990+ 1 2,997
201 Let2dH| 6,800 6,800 0
01 AFR 22| 2,840 2,840 0
OF- 2,840
02 5234l 3,960 3,960 0
OEH 3,960
401 A EHIL 2048 47,000 50,000 A 3,000
01 Al&H| 47,000 50,000 23,000
O0lsAalstEA 4x1 2 WH  6,000,000& *74! 42,000
OolsAlztEs A2+ € A
625,000 =84 5,000
HOISXelEZ A AAl 50,000 72,500 A22,500
& 11,000
i 39,000
201 et 20,000 20,000 0
& 8,000
= 12,000
01 AtE222|H] 20,000 20,000 0
OMYIIZEM HAXNS =H =2
20,000& 1,000 CH 20,000
= 8,000
= 12,000
301 EtE4 = 30,000 41,500 A 11,500
= 3,000
= 27,000
12 JIEtEA S 30,000 41,500 211,500
SEHIIZE = Zd3 100& 300, 000kg 30,000
& 3,000
= 27,000
d8% S otd MY Dl HaAS 68,082 0 68,082
= 42,000
= 4,041
= 22,041
101 el ] 50,154 0 50, 154
= 35,108
= 15,046
04 JI2tHIZ2E2ENEE S 50,154 0 50,154
o8& ot Ea ALY 22| 50, 154
—Jl2s 33,3003 6% x188Y 37,563
= 26,294
i 11,269




I:I}\_I X ZH C|—O|(;| j;”) }\.“bl}\l,o-l A2 AFOH I|_‘|LI;=|_|‘:_ HleDF
—Re5gsrE 33,3003 x6 % «48L 9,591
= 6,714
= 2,877
—IEMHEERE 500,000& 6% 3,000
= 2,100
= 900
201 LetI] 9,846 0 9,846
= 6,892
= 2,954
01 AFR22lH] 9,846 0 9,846
O 9,846
= 6,892
= 2,954
308 MXIHHMSOIA 8,082 0 8,082
& 4,041
= 4,041
05 MUXESHM2RYES 8,082 0 8,082
OdaZst=AdlIMelHlEEE3 8,082
= 4,041
= 4,041
HY2AHU (BEES ) 32,640 39,677 ANT,037
ol 2| 4,200 4,380 A 180
ol 2| 4,200 4,380 A 180
203 HRF&AH| 4,200 4,380 A 180
04 FN2IHRFT 4,200 4,380 A 180
ORN2E gd2= 350,000 x12& 4,200
Jl2ZHl 28,440 35,297 A6,857
Jl2Z | 28,440 35,297 6,857
201 LBt 3| 17,400 19,457 AN2,057
01 AtE22|Hl 12,944 14,701 A1,757
O 12,944
02 2223l 4,456 4,756 A 300
Ok 4,456
202 (4| 11,040 15,840 24,800
01 =Wl 11,040 15,840 A 4,800
ORAM2Z ZUoH 11,040
Ras (3225 1,796,378 4,004,787 A2,208,409
HEHH K= 1,796,378 4,004,787 22,208,409
LHE HeH 1,796,378 4,004,787 22,208,409
701 JIEfSI HE == 1,796,378 4,004,787 22,208,409
01 JIEtI HEE3 1,796,378 4,004,787 A2,208,409
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